
SQUID Controller Board #250
 Quality Control

DAC offset vs Φbias

VoutputNuller vs Frequency

VoutputNuller vs Feedback

VoutputNuller vs Crosstalk Measurements

VoutputCarrier vs Frequency

Heater Voltage Set vs Heater Voltage Read
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DAC Offset as a Function of Φbias
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Nuller Through the Amplification Chain’s Voutput as a

Function of Frequency
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Nuller Through the Feedback Loop’s Voutput as a Function of

Feedback
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Crosstalk Measurements with a Nuller going through the

amplification chain

0 1 2 3 4 5 6 7 8 9
10

0

10
1

10
2

10
3

Crosstalk (channel)

V
ou

tp
ut

 N
ul

le
r 

(A
D

C
 c

ou
nt

s)

Nuller on channel #1

 

 

Data
Acceptance level (1%)

0 1 2 3 4 5 6 7 8 9
10

0

10
1

10
2

10
3

Crosstalk (channel)

V
ou

tp
ut

 N
ul

le
r 

(A
D

C
 c

ou
nt

s)

Nuller on channel #2

 

 

Data
Acceptance level (1%)

0 1 2 3 4 5 6 7 8 9
10

0

10
1

10
2

10
3

Crosstalk (channel)

V
ou

tp
ut

 N
ul

le
r 

(A
D

C
 c

ou
nt

s)

Nuller on channel #3

 

 

Data
Acceptance level (1%)

0 1 2 3 4 5 6 7 8 9
10

0

10
1

10
2

10
3

Crosstalk (channel)

V
ou

tp
ut

 N
ul

le
r 

(A
D

C
 c

ou
nt

s)

Nuller on channel #4

 

 

Data
Acceptance level (1%)

8



0 1 2 3 4 5 6 7 8 9
10

0

10
1

10
2

10
3

Crosstalk (channel)

V
ou

tp
ut

 N
ul

le
r 

(A
D

C
 c

ou
nt

s)

Nuller on channel #5

 

 

Data
Acceptance level (1%)

0 1 2 3 4 5 6 7 8 9
10

0

10
1

10
2

10
3

Crosstalk (channel)
V

ou
tp

ut
 N

ul
le

r 
(A

D
C

 c
ou

nt
s)

Nuller on channel #6

 

 

Data
Acceptance level (1%)

0 1 2 3 4 5 6 7 8 9
10

0

10
1

10
2

10
3

Crosstalk (channel)

V
ou

tp
ut

 N
ul

le
r 

(A
D

C
 c

ou
nt

s)

Nuller on channel #7

 

 

Data
Acceptance level (1%)

0 1 2 3 4 5 6 7 8 9
10

0

10
1

10
2

10
3

Crosstalk (channel)

V
ou

tp
ut

 N
ul

le
r 

(A
D

C
 c

ou
nt

s)

Nuller on channel #8

 

 

Data
Acceptance level (1%)

9



Carrier Through the Amplification Chain’s Voutput as a

Function of Frequency
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Heater Voltage Read as a Function of Heater Voltage Set
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